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Identify the action verb Answer
option
(a,b,c ord)
a) study b) beautiful ¢) mountain | d) shall a) study
I met John at a party. Select a preposition in this sentence.
a)l b) at ¢) met d)a b) at
The sun rises from the east
a) active voice | b)passive voice | c) simple | d) adverbs a) active
sentence voice
I settled Canada last year.
a) at | b) in | ¢) off | dyon b) in
His arguments in the court were so that he shattered the Aogiivgzr
evidence built by the opposition lawyer. (ab.c or d)
a) diagnostic b) voluminous | ¢) d) worldly C)
penetrative penetrative
Match the items of List I with the items of List I and choose the correct
code of combination:
A. Lord Cornwallis L. Father of civil service in India
Answer
B. Lord William Bentinck | I1. Abolish Sati system option
(a,b,c ord)
C. Lord Ripon II1. Ilbert Bill 1883
D Lord Dalhousie IV. Doctrine of Lapse
a) A-I, B-II, C- | b) A-Il, B-III, | ¢) A-III, B-|d)A-IV,B-I, C-II,
111, D-IV C-1V, D-1 IV, C-1, D-II | D-III a
Assertion (A): Air pollution has increased dramatically in the past 25 Answer
years. option
Reason (R): Enormous increase in human population has increased the | (a,b,c or d)
demand for food, water, electricity, etc.
a) Both b) Both c)Assertion | d)Both assertion
assertion  and | assertion and | is true but | and reason are
reason are true | reason are true | reason is | false. a
and reason is the | but reason is not | false.

correct
explanation for
the assertion.

correct
explanation for
the assertion.




8 Which of the following is not known as a greenhouse gas? Answer
option
(a,b,c ord)
a)Methane b)Nitrous oxide | ¢) Hydrogen | d)None of the
above
9 Consider the following statements:
1. No criminal proceedings shall be instituted against the Answer
Governor of a state in any court during his term of office. option
2. The emoluments and allowances of the Governor of a state shall (a bp ¢ or d)
not be diminished during his term of office. >
Which of the statements given above is/are correct?
a)lonly b) 2 only c)Both 1 and | d)Neither 1 nor 2
2
10 | During the reign of which of the following rulers did Hiuen Tsang, a Answer
Chinese traveller come to India? option
(a,b,c ord)
a) Chandragupt | b) Samudragupt | ¢) Akbar d) Harshavardha d
al a na
11
Match the items of List I with the items of List I and choose the correct
code of combination:
A. Nathu la pass I. Uttarakhand
Answer
B. Lipulekh Pass II. Ladakh option
(a,b,c ord)
C. Zoji La pass III. Himachal Pradesh
D.Rohtang La Pass IV. Sikkim
a)A-1V, B-I, C- | b)A-I, B-II, C- | ¢) A-II, B-III, | d) A-IIL, B-IV, C-
I1, D-TII 111, D-IV C-1V, D-1 I, D-1I
12 | Recently, who has been awarded the title of Grandmaster by FIDE, the Answer
International Chess Federation? option
(a,b,c ord)
a) Ramesh | b) Rajiv Kumar | ¢) Tania | d) Vaishali d
Agarwal Sachdev Ramesh Babu
13 A
Match the items of List I with the items of List IT and choose the correct niyver
code of combination: option
(a,b,c or d)

| A. IPC

\ I. Bharatiya Nyaya Sanhita \
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B. CrPC II. Bharatiya Sakshya Adhiniyam

C. Evidence Act III. Nagarik Suraksha Sanhita

a) A-11, B-11I, C- | b) A-III, B-1, C- | ¢) A-1, B-1II, | d) A-I, B-II, C-III
1 11 C-lII c
14 | Consider the following statements about Google Deep Mind’s Genie:
1. it is the first generative interactive environment that has been
trained unsupervised manner from unlabelled internet videos. Answer
2. It can generate an endless variety of playable (action- option
controllable) worlds from synthetic images, photographs, and even | (a,b,c or d)
sketches.
Which of the statements given above is/are correct?
a) Only 1 b) Only 2 c)Both 1and | d) None of the
2 above c
15 | Which of the following banks was authorized to issue electoral bonds? Answer
option
(a,b,c or d)
a) HDFC Bank | b) State Bank of | ¢)Punjab d) Canara Bank b
India (SBI) National
Bank
16 |[IfA:B=7:9andB:C=3:5,thenA:B:Cisequal to Answer
option
(a,b,c or d)
a)7:9:5 b) c) d) 7:3:15 Answer
21:35:45 7:9:15 (c)
17 | The sum of four consecutive integers is 1290. The greatest of them is? Answer
option
(a,b,c or d)
a)321 b)322 ¢)323 d)324 Arzzv)ver
18 | Asellsacarto B at 10% loss. If B sells it for Rs. 54000 and gains 20%, Answer
the cost price of the car for A was option
(a,b,c or d)
a) Rs. 25000 ¢) Rs. 37500 | d) Rs. 60000 Answer
b) Rs. 50000 (b)
19 | Ram and Shyam’s average age is 65 years. The average age of Ram, Answer
Shyam and John is 53 years. What is the age of John? option
(a,b,c or d)
a) 29 Years b) 31 Years ¢) 59 Years d) 45 Years Answer
(a)
20 | Rajesh has a container which has a mixture of wine and water in it. Answer
Wine and water are in the ratio 4:1. Rajesh spills some of the mixture option
by accident. He then replaces the spilled amount with water of same | (a,b,c or d)
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quantity. But now the wine to water ratio became 3:2. How much water
did Rajesh add?

a) 3/5 b) 12 c) Va d) 2/7 Answer
(c)
21 | State of A.P. v. R. Punnayya case deals with distinction between which Answer
of following sections of Indian Penal Code: option
(a,b,c ord)
a) Sections 501 | b) Sections 299 | ¢) Sections | d) Sections 305 Answer
and 502 and 300 304A  and | and 306 (b)
304B
22 | Voluntarily throwing or attempting to throw acid is an offence Answer
punishable under Indian Penal Code, 1860, under: option
(a,b,c ord)
a) Section 326 A | b) Section 326 | ¢)  Section | d) Section 228 Answer
B 228 A (b)
23 | Which of the following statement is true about Euthanasia? Answer
A. It is the name of a capital of an East European Country. option
B. It is the name given to human ailment or disease (a,b,c ord)
C. It is the same thing as penalty shot in Ice Hockey
D. A belief and practice in ending a life in order to relieve it of pain and
suffering.
a)Aand D b) B c)D d)A Answer
(c)
24 | Read A: Assertion and B. Justification and answer by using given Answer
below options: option
A: Assertion: Nothing is an offence which is done by a person who at | (a,b,c or d)
the time of doing it, by reason of unsoundness of mind, is incapable of
knowing the nature of the act.
B: Justification: Mistake of fact is a good defence and mistake of law
is no defence.
a) Both (A) and | b) Both (A) and | ¢) (A) is true | d) (A) is false but Answer
(B) are true and | (B) are true and | but (B) is | (B) is true. (b)
(B) is the correct | (B) is not the | false.
explanation of | correct
(A). explanation of
(A).
25 | Match List I with List IT and select the correct answer from the options Answer
given below: option
List I List IT (a,b,c ord)
A Instigation to commit an offence | 1 Criminal conspiracy
B Agreement to commit an offence | i1 Necessity
C Grave and sudden provocation iii Abetment
D Act done without criminal | iv Culpable homicide
intention to prevent other harm
a) A-ii, B-iv, C- | b) A-iii, B-1, C- | ¢) A- ii, B- 1, | d) A-iii, B-iv, C- Answer
i, D-iii iv, D-ii C-iv,D-iii | I, D-ii (b)
26 | Which Amongst the following is the leading case for Doctrine of Answer
indoormanagement? option




(a,b,c ord)

a) Royal British | b)Soloman vs | c) Foss v |d) Ashbury Answer
Bank vs | Soloman 1897 | Harbottle Railway Carriage (a)
Turquand 1856 (1843) and Iron Co Ltd v

Riche (1875)

27 | Where fraudulent or dishonest use is made of a legal entity, the Answer
individuals concerned will not be allowed to take shelter behind the option
corporate personality. The Court will break through the corporate shell | (a,b,c or d)
and this is called as
a) Doctrine of | b)Doctrine  of | ¢c)Doctrine of | d) Doctrine of Answer
Constructive Alter Ego Lifting Up of | Indoor (©)
Notice the Management

Corporate
Veil
28 | Which one of the following statements is correct? Answer
option
(a,b,c or d)
a) SEBI has | b)SEBI is | ¢) The | d) One of the Answer
been constituted | constituted purpose  of | objectives of (d)
under the | from amongst | issuing setting up SEBI is
Securities the directors of | different to protect the
(Contract and | various  stock | types of rules | interests of
Regulation) Act, | exchanges. and investors.
1956. regulations
by SEBI is to
bring
monetary
gains to
investors

29 | Match List I with List II and select the correct answer from the options Answer
given below option
List I List IT (a,b,c ord)

A. Doctrine of alter ego 1. Ashbury Railway Carriage &

Iron Co, Ltd. V. Riche

B. Doctrine of constructive | ii. Royal British Bank v. Turquand

notice

C. Doctrine of indoor | iii. Jones v. Smith

management

D. Doctrine of ultra vires iv. Keffer v. H. K. Potter co. Inc.
a) A- iv, B- iii, | b) A- iii, B- iv, | ¢) A- I, B-ii, | d) A- ii, B- iii, C- Answer
C-1ii, D-1i C-1ii, D-1i C-iii, D-iv | iv, D-1i (a)

30 | Read A: Assertion and B. Justification and answer by using given Answer
below options: option
A: Assertion: Under the Company Law, though any outsider is | (a,b,c ord)
presumed to be aware of the documents which are publicly accessible,
but not the internal proceedings of which he cannot reasonably aware
of, because those are not accessible to the public.

B. Justification: The Doctrine of indoor management evolved as a

partial exception to the Doctrine of Constructive Notice.

a) Both (A) and | b) Both (A) and | ¢) (A) is true | d) (A) is false but Answer
(B) are true and | (B) are true and | but (B) is | (B)is true (a)
(B) is the correct | (B) is not the | false
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explanation of | correct
(A) explanation of
(A)
31 | If there is a condition restraining alienation, then the . Answer
option
(a,b,c or d)
a)condition is | b) transfer 1is|c) condition | d) condition is Answer
void void and transfer | void but transfer (a)
both void is valid
32 | Transfer by operation of law will not include Answer
option
(a,b,c or d)
a) inheritance b) insolvency c) forfeiture | d) will Answer
(d)
33 | In case of a gift, if the done dies before acceptance, the gift is: Answer
option
(a,b,c ord)
a) Valid b) Void ¢) Revocable | d) Irrevocable Answer
(®)
34 | Match List - I and List - II and select the correct answer using the Answer
options mentioned thereunder: option
List I List IT (a,b,c ord)
A. Doctrine of Election iSection 112
B. Subrogation it Section 92
C. Doctrine of Holding Over iii Section 35
D. Waiver of Forfeiture iv Section 116
a) A-iii, B-ii, C- | b) A-1, B-1ii, C- | ¢) A- 11, B- 1, | d) A-iii, B- 1, C- Answer
iv, D-1 iii- D- iv C-iv, D-iii | ii, D-iv. (a)
35 | Read A: Assertion and B. Justification and answer by using given Answer
below options: option
A. Assertion: Property is a comprehensive term and includes copy | (a,b,c or d)
right.
B. Justification: Transfer of Property Act deals with all kinds of
property including patents.
a) Both (A) and | b) Both (A) and | ¢) (A) is true | d) (A) is false but Answer
(B) are true and | (B) are true and | but (B) is | (B) is true (c)
(B) is the correct | (B) is not the | false
explanation of | correct
(A) explanation of
(A)
36 | In which of the following cases, the Supreme Court directed closing Answer
down and demolition of shrimp industries in coastal regulation zone option
and implement the “precautionary principle” and “the polluter pays | (a,b,c or d)
principle and held them liable for payment of compensation for
reversing the ecology and compensate the individual for loss suffered?
a) S. Jagannath | b) Vellore | ¢) M.C. | d) Church of God Answer
v. Union of | Citizens Mehta c. | (Full Gospels) in (a)

India v. KKR
Majestic Colony

Union of
India

Welfare Forum
v. Union of
India

India




Welfare

Association
37 | The doctrine of ...... means that the absolute liability for harm to Answer
environment extends not only to compensate the victims of pollution option
but also to the cost of restoring the environmental degradation. (a,b,c ord)
a) Polluter pays | b) c) Public | d)Public Answer
principle Precautionary | Trust Nuisance (a)
principle
38 | The Environment Protection Act, 1986 has been enacted under which Answer
provision of the constitution? option
(a,b,c ord)
a) Article 253 b) Article 252 c) Article | d) Article 246 Answer
249 (a)
39 | Read A. Assertion and B. Justification and give correct answer by using Answer
options given below: option
A. Assertion:Brief exposure to externally high sound level, 150dB or | (a,b,c or d)
more generated by takeoff of a jet plane or rocket, may damage ear
drum or dislocate ear ossicles and permanently impair the hearing
ability.
B. Justification: In India, the Air (prevention and Control of Pollution)
Act came into force in 1981, but was amended in 1987 to include noise
as an air pollutant.
a) Both (A) and | b) Both (A) and | ¢) (A) is true | d) (A) is false but Answer
(B) are true and | (B) are true and | but (B) is | (B)is true (b)
(B) is the correct | (B) is not the | false
explanation of | correct
(A) explanation of
(A)
40 | Match List - I and List - II and select the correct answer using the Answer
options mentioned thereunder: option
List [ List IT (a,b,c ord)
A. Vienna Convention 1. Ozone Layer Depletion
B. UNCCD il. Sustainable Land
Management
C. Ramsar Convention iii. Conservation of Wetlands
D. Basel Convention iv. Transboundary Movement
of Hazardous Waste
a) A- 1, B-ii, C- | b) A-ii, B-iii, C- | ¢) A- iv, B- | d) A-iii, B-1v, C- Answer
iii, D- iv iv, D-1i i, C-1ii, D-1 | 1, D-ii (a)
41 | What is the oldest insurance practice? )
a)Health b)Marine c)Life d)General Answer
Insuranec Insurance Insurance Insurance (b)
42 | According to the principle of ......... the insured must have some
pecuniary interest in the subject matter of the insurance contract.
a) Principle of | b) Principle of | ¢) Principle | d) Principle of
Insurable subrogation of indemnity | utmost good faith Answer
Interest (a)




43 | Which of the following is not covered under the ‘Contract of
Indemnity’? )
a) Theft | b)Marine c) Life | d)Fire Insurance
. . . Answer
insurance insurance insurance (©)
44 | A contract of insuranceisa...... agreement
a) Contingent b) Constant c) Bothaand | d) None of the Answer
b above (a)
45 | On which date Civil Procedure code becomes operative
a) 1% January | b) I®*April 1908 | ¢) 31| d) I January
1908 December 1909 Answer
1908 (d)
46 | Formal expression of an adjudication which, so far as records the court
expressing it, conclusively determines rights of the parties, is-
a) Decree b) Order ¢) Judgment | d) Appellate Answer
Order (a)
47 | Which section lays down the rule of res sub judice?
a) Sec.10 b) Sec.11 c) Sec.12 d) Sec.09 Answer
(a)
48 | In which section of Civil Procedure Code 1908 provision relating to
“Suit of a Civil nature” has been provided?
a) Sec. 8 b)Sec. 9 c¢) Sec.10 d) Sec.11 Answer
(b)
49 | Under Section 32 of CPC, to compel the attendance of a person to
whom a summon has been issued under Section 30 of CPC, the Court
is empowered to
a) Issue a|b) Attach and |c) Impose a | d) Either (a) or
warrant for his | sell his property | fine ‘ not | (b) Or (c) Answer
arrest exceeding Rs d)
5000
50 | Which provision of the Code of Civil Procedure 1908 deals with appeal
from original decree?
a) Sec.90 b) Sec.96 c¢) Sec.82 d) Sec.98 Answer
()
51 | Which section of Competition Act, 2002 deals with anti-competitive
agreements and arrangements? Answeroptio
n
(a,b,cord)
a) section2 b) section3 c) sectionl2 | d) section19A b
52 | Given below are two statements: Answer




Statementl: Dominant position means the position of strength enjoyed option
by an enterprise in are levant market in India which enables it to operate | (a,b,cord)
independently of operative forces and affects competitors and
consumers in its favour.
Statementll: no enterprise shall abuse its dominant position.
In the light of above statements, choose the correct answer from the
options given below:
(A)Both Statement I and Statement II are true.
(B)Both Statement I and Statement II are false. N
(C)Statement I is true, but Statement II is false.
(D)Statement 1 is false, but Statement II is true
53
Match the items of List I with the items of List IT and choose the correct
code of combination:
A.Competition Act 1.2002
B.Information Technology Act | 11.2000 Answer
option
C.Sales of Goods Act I11.1930 (a,b,cord)
D.Indian Contract Act IV.1872
a)A-I,B-II,C- b)A-LB-III,C- | ¢)A-IL,B- d)A-II1,B-IV,C-
11,D-1V I,D-1V IV,C-IILD-1 | I,D-II a
54 | Which of the following Acts are administered by the Ministry of
Corporate Affairs? Answer
1.The Insolvency and Bankruptcy Code,2016 :

. option
2.Companies Act, 2013 (a.b,cord)
3.Competition Act, 2002 e
a)Bothland2 b)only2 c)only3 d)All  of the

above d
55 | The Competition Act was enacted to replace Answeroptio
n
(a,b,cord)
a)Contract Act | b)Trademark ¢)MRTP Act | d)Copyright Act | c
Act
56 | According to which rule of interpretation should old statutes be .
. Answeroptio
interpreted as they would Have been at the date when they were n
passed?
(a,b,cord)
a)Nosciura b)Ut res magis | c)Expressio | d)Contemporane
Sociis valeat quam | nunis est | a Expositio Est d
pereat exclusi  on | Optima Et
alterius
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Fortissima In
Lege

57 | Common-law legal systems place great value on deciding cases
according to consistent principled rules so that similar facts will yield Answerontio
a like and predictable outcomes, and observance of precedent is the n p
mechanism by which that goa is attained. The principle by which (a.b,cord)
judges are bound to precedents is known as......... 7
a)Stare decisis | b)Common law | ¢)Judgment | d) Resgestae a
analysis
58
Statement (1): The illustrations cannot curtail the scope of a section. .
Answeroptio
. . . n
Statement (2): The illustrations can expand the scope of a section. (a.b.cord)
a)Both the | b)Only ¢)Only d)Both the above
above Statement(2) is | statement(1 ) | statements are in b
statements are | correct is correct correct.
correct.
59
Match the items of Listl with the items of ListIl and choose the correct
code of combination:
A. Literal Rule [.Plain meaning rule
B. Golden Rule IL.modifies the language of the
words in a statute to
successfully interpret the
actual meaning of the .
legislation Answeroptio
’ n
C.Mischief Rule III.Heydon’sRule or Rules in (a,b,cord)
Heydon’s case
D.Rule of  Harmonious | IV. the rule suggests that laws
Construction should be interpreted in a way
that aligns with to prevent
conflicts between them
a) A-VI, B-III, | b) A-Ill, B-II, | ¢) A-I, B-II, | d) A-II, B-I, C-1V,
C-I1, D-1 C-I, D-1IV C-lIII, D-IV | D-1II ¢
60 | Under which Article of the constitution of India provisions relating to | Answeroptio
the doctrine of eclipse are provided n
(a,b,cord)
a)Article13(1) | b)Articlel3(2) | c)Articlel3( | d)Articlel5 N
3)
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61 | Which of the following income is exempted from Tax? Answeroptio
n
(a,b,cord)
a) Agriculture | b) Interest on | ¢c)Income d) Capital gain a
Income Govt.securities | from salary
62 | Match the items in List [ with items in List II:
A. GST I.Direct tax
B. Principles of Taxation II. Indirect Tax
Answeroptio
C. Property Tax III. Adam Smith n
(a,b,cord)
D. section 10(1) Income Tax Act | I[V.Agriculture Income
a) A-11, B-1II, C- | b) A-III, B-1V, | ¢) A-1V, B-1, | d) A-L, B-1V, C-II, N
I, D-VI C-II, D-1 C-I11, D-1I D-III
63 | Which of the following is an example of indirect tax? Answeroptio
n
(a,b,cord)
a) Gift tax b) Property tax | ¢) Income | d) Excise duty
tax d
64 | Section 17(1) of the Income Tax Act, 1961 ‘salary’ includes Answeroptio
n
(a,b,cord)
a) Wages b) Any gratuity | c) Any fees, | d) All of the
commissions | above
, perquisites
or profits in d
lieu of or in
addition to
any salary or
wages
65 | A country which imposes no tax or very low tax on foreign citizens and | Answeroptio
corporations is known as n
(a,b,cord)
a) Tax haven \ b) tax keeper \ ¢) tax boost \ d) Progressive tax a
66 | Every promise and every set of promises, forming the consideration for Answer
each other, is called as: option
(a,b,c or d)
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a)A  voidable | b)A contract c)A void | d)An agreement Answer
contract contract (d)
67 | The doctrine of frustration applies when: Answer
option
(a,b,c or d)
a) The terms of c) The | d) The contract is
the contract are performance | illegal
unclear b) One party of the
fails to fulfill | OMTact Answer
their becomes ©)
obligations 1mp9551ble or
significantly
more
difficult
68 | In contract law, the term “privity of contract” refers to: Answer
option
(a,b,c or d)
a) The legal c) The | d) The obligation
relationship b) . The requirement | to disclose all
between  two requirement of of a written | material facts in a Answer
. consideration
contracting agreement contract (a)
. for a contract to .
parties be valid for certain
contracts
69 | An agreement which is enforceable by law at the option of other or Answer
others is: option
(a,b,c or d)
a) A Contract b) A voidable | ¢) Void d) Void Contract Answer
contract (b)
70 are the words, which appear innocent, but have a latent Answer
defamatory meaning. option
(a,b,c or d)
a) Libel b) Slander c¢) Innuendo | d)None of the Answer
above (c)
71 | Unliquidated damages mean Answer
option
(a,b,c or d)
a) Damage to |Db) Damaged | c) Damage to | d) Damage to be
something Solid | caused by a | a firm in the | assessed by a Answer
firm which has | hands of | court as these are )
gone in | receiver not pre-
liquidation determined
72 | What is the legal meaning of the word ‘battery’? Answer
option
(a,b,c or d)
a) cells as used | b) Battering a | ¢) Actual or | d) Assault
in torch, tape | person to death | intended resulting in, at Answer
recorder etc striking ~ of | least,  6-month (©)
another hospitalization.
person.
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73 | When the Master is held liable for the wrongful act of his servant, the Answer
liability is called option
(a,b,c ord)
a) Strict liability | b)  Vicarious | ¢)  Tortous | d) Absolute Answer
liability liability liability (b)
74 | Covenant on Civil and Political Rights introduced in the year.... Answer
option
(a,b,c ord)
a)1966 b) 1957 c) 1980 d)1975 Answer
a
75 | Match the pairs:
A All human beings are born free and | { Article 3
equal and should be treated the same
way
B Everyone has the right to life and | {j Article 7
to live in freedom and safety. Answer
option
C The law is the same for everyone | iii Article 1 (a,b,c ord)
and should be applied in the same
manner to all.
D Trials should be public and tried in | {v Article 10
a fair manner by an impartial and
independent tribunal.
a) iv, i, i, 1 b) iii, 1, 1v, i ¢) iii, 1, i, iv | d) iv, 1, 1i, iii Answer
c
76 | Which of the following is FALSE in the context of Women during the
Colonial period?
i. From the early twentieth century women played a notable role Answer
in promoting education among women. option
ii. Pandita Ramabai published a book called Stripurushtulna . (a,b,cord)
iii. Begum Rokeya started schools for muslim girls in Patna and
Calcutta.
a) only ii b) only i ¢) only iii d) None of these Answer
a
77 | Type Questions here for assertion and justification
A: Assertion (A) : Human Rights are universal in nature and belong to
all human beings , regardless of race, religion, gender and other
differences. Answer
option
B: Reason (R): Human Rights are guaranteed by the law , including | (a,b,c or d)

treaties , customary international law ,general principles and other
sources of International law.

Choose the correct answer:
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a) Ais true and | b) A is false but | c)BothA& R | d) Both A & R are
R is false. R is true. are true and | true and R is not Answer
R is the | the correct
correct explanation of A. ¢
explanation
of A.
78 | What provision provides the local authority‘s key duty to investigate Answer
suspected Child abuse? option
(a,b,c ord)
a)S.31 Children | b)S.45 Children | ¢)S.47 d)S.17 Children Answer
Act 1989 Act 1989 Children Act | Act 1989 C
1989
79 | Who says “Jurisprudence is the Study and systematic Answer
arrangement of the general principles of law”? option
(a,b,c or d)
a) Salmond b) Keeton ¢) Austin d)Julius Stone Answer
b
80 | matching pairs:
A Kelsen i Pure Theory Answer
B. Thering ii Social Utilitarianism option
C. Kant iii Retributive Theory (ab.cord)
D. Savaigny iv Volksgeist Theory
a)iii, iv, 1, ii b)Lii, iii, iv c) v, iii, i1, 1 | d)ii, iii, v, i Answer
a
81 | ...l states that all the actions of human beings are controlled Answer
by two sovereigns, namely ‘pain’ and “pleasure option
(a,b,cord)
a) Utilitarianis | b) Formalism ¢) Hedonism | d)Realism Answer
m c
82 | Type Questions here for assertion and justification
A: Assertion (A) Jurisprudence deals with those relations of man to Answer
society which are regulated by law. option
(a,b,c ord)
B: Reason (R) The word Latin word ‘Jurisprudentia’ which means ‘the
knowledge of law’.
a) -Both (A) and | b) Both (A)and | ¢) -(A) is|d) -(A) is false,
(R) are true, and | (R) are true, but | true, but (R) | but (R) is true Answer
(R) is the correct | (R) is not the | is false b
explanation of | correct
(A) explanation of
(A)
83 | Who said that “law is the art of science of what is equitable and Answer
good”? option
(a,b,c or d)
a) Cicero b) Salmond ¢) Austin d)Ulpian Answer
d
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84 | Who is the father of “ International Law”. Answer
option
(a,b,c or d)
a)Oppenheim b)Hago Grotius | ¢) Austin d) Bentham Answer
b
85 | Matching the pairs:
A Security Council I The Hague Answer
B International Court of | Ii Geneva option
Justice (a,b,c or d)
C ILO Iii New York
D IMF Iv Washington
a) L, ii, i, iv b) iii, I, 11, iv ¢) iv, iii, ii,1 | d)iii, I, iv, il Answer
b
86 | The book “ Jure Belli ac Paceis “ was written by Hugo Grotius . Answer
option
(a,b,c or d)
a) True b) False c¢) Cant Say | d) None of these Answer
a
87 | Assertion (A): International law is not law at all. Answer
Reason ( R ): International law has no judicial system to enforce the option
law by applying sanctions. (a,b,c or d)
a) Both A & R | b) A is true but | ¢) Both A & | d) Ais false but R
are True and R | R is false. R are True | is true.
. . Answer
is the correct and R is not b
explanation of the correct
A. explanation
of A.
88 | Number of Judges of International Court of Justice is Answer
option
(a,b,c or d)
a)9 b) 12 c) 15 d) 10 Answer
c
89 | AIBE Stands for Answer
option
(a,b,c or d)
a) All India Bar | b) All India Bar | ¢) All India | d) None of these.
. Answer
Exam & Bench Exam | Business A
Exam
90 | In which section of Advocates Act , 1961 the term Advocate is Answer
defined... option
(a,b,c ord)
a)Section 2(a) b) Section 2 (d) | ¢)  Section | d) Section 2 (C) Answer
2(g) A
91 | Who is called “Employer” under the employees provident fund and Answer
miscellaneous provisions Act 19527 option
) The owner and occupier of the factory (a,b,c or d)
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i)

The legal representative of a deceased owner or occupier

i) The person who has the ultimate control over the affairs of the
establishment.
a) only i b) [ &ii c)Lii&iii |d) None of the Answer
above c
92 | Matching the pairs:
A. Industrial ~ Disputes | 1 1926
Act Answer
B. The Maternity Benefit | ii 1948 option
Act (a,b,c or d)
C. Minimum Wages Act | ii1 1947
D. Trade Unions Act v 1961
a) iii, 1v, i, 1 b) iv, iii, ii, i c)iii, I, i1, iv | d) L, i, iii, iv Answer
a
93 | The idea of the Preamble has been borrowed from the Constitution of Answer
which of the foreign country? option
(a,b,c or d)
a) Canada b) USA ¢) Britain d) France Answer
(b)
94 | Consider the following statements The Indian Constitution is -
. S Answer
1. unwritten constitution option
2. written constitution (a bp ¢ or d)
3. largely based on Government of India Act, 1935 >
a) 2 and 1 are |b) 2 and 3 are|c)land2are [d) 1 and 3 are Answer
correct correct correct correct (b)
95 | Montagu-Chelmsford report is associated with which Govt of India Act Answer
option
(a,b,c ord)
a) Govt. of India | b) Govt. of|c) Govt. of | d) Govt. of India Answer
Act 1918 (B) | India Act 1920 | India Act | Act 1919 (d)
(C) (D) 1930
96 | The Supreme Court struck down section 303 of the Indian penal code, Answerontio
which provided for mandatory death punishment for offenders serving n P
a life sentence in..........
(a,b,cord)
a) Mithu v. State | b) Bachan | ¢) Gian Kaur | d)Kishore Singh
of Punjab Singh V. State | v. State of | v. State of | a
of Punjab Punjab Rajasthan
97 | “An unlawful misadventure which is carried on by a boss and his .
. . . . ... | Answeroptio
accomplice who form a hierarchical structure for a specific period is n
called as organized crime. (a.b,cord)
a) John Rawls | b) Kent ¢) Holland d) Reckless d
98 | First wave of nationalization was in which year?
a) 1960 | b) 1965 | ©)1969 | d) 1990 Answer
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| | | (©)
Which section of Banking Regulation Act 1949 defines banking
business
a) Sec. 5 b) Sec.6 c¢) Sec.7 d) Sec.8 Answer
(b)
Offence committed by any public servant under section 3 of the SC and Answer
ST ( Prevention and Atrocities) Act, 1989 provides for minimum option
punishment of (a,b,c or d)
a) One Year b)Six months c)Three d)Two months Answer
months a
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